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m \ donates 15% of his monthly
If : =l
1. - i month, which is Rs. 1.875.
incoate ¢
income 18

his Spnual

(\) ol 90,000
(C) R 1.50,000

2 = information is those which
il t'n\:u_s on numbers and fl‘@quencies rather
than on meaning and experience.

(B) Informal
(D) Qualitative

(B) Rs. 1,20,000
(D) Rs. 1,80,000

(A) Formal

(C) Quantitative

3. Which among the following district of
Haryana has highest urban child sex
ratio as per 2011 census ?

(A) Hisar (B) Mewat
() Ambala (D) Jhajjar
4. Understraightline method of depreciation,

cost of the asset is Rs. 11,000, scrap
value 1s Rs. 1,000, estimated life of ass

7 =~ 18 10 years. Therefore, the amou”

depreciation is
(A) Rs. 1,000
(C) Rs. 500

(B) Rs.-
(D) Rs>. .0

Eﬂ The value of cot*10° — cosec’10° =
(A) 1 (B) -1
(©) 0 (D) -3

@ How much work is done in moving a
charge of 2 C across two points having a
potential difference of 12V ?

(A) 64 (B) 0.1667 J
(C) 244J (D) 12J

ey

national income” refers

to the country’s total output of final
goods and services in real terms rather
than in money terms.

(A) Gross
(C) Real

(B) Net
(D) All of these

L.

ot
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?r&'%ﬁ_\néﬁ.mﬁmm a8 =
15% 3 Fa1 2, 1 5. 1.875 2. @t ==

FIE A3 2

(A) ¥. 90,000 (B) ¥%. 1.20.000

¢ %. 1,50,000 (D) %. 180,000
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10.

13.

14.

At Hanumanchattiof Haryana, Hanuman
(Ganga merges with which river ?

(A) Krishnawati
(C) Markanda

(B) Yamuna
(D) Dohan

The total of the current assets may
just be equal to the total of current

liabilities. Such a situation may be
called as working capital
situation.

(A) Positive (B) Negative

(C) Zero (D) None of these

Nahar Singh International Cricket
Stadium is situated in the
district of Haryana.

(A) Rohtak
(C) Faridabad

(B) Chandigarh
(D) Gurugram
Under the Payment of Bonus Act, 1965,

an employee eligible for bonus who has
worked in the establishment for not less

than working days in the
accounting year.
(A) 25 (B) 40
(C) 30 (D) 45
A
If A and B are 2 mutually exclusive e’
of a random experiment and ?(ﬁ‘ 4?‘;,
P(B) = 0.45, then the value of 2 B)is
(A) 0.90 (B) 0.5.
(C) 0.80. (D) None of these
Which of the following country became
the first to perform successful telerobotic
surgery in the world on 2918 ?
(A) France (B) India
(C) Canada (D) None of the above
costing 1s a system of
accounting in which all expenses (fixed
and variable) are considered for the
determination of standard cost for a
prescribed set of working conditions.
(A% Standard
(B) Budgetary
(C) Job
(D) None of the above
\/ " L : _3_
Mo B b o %&: Qw o
SN Yy & RS \:tﬂ
{,ﬁ M’ * L™
%\""' -;,\“\

10.

12.

13.

14.
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AN ¥ gemEgt @ FE T e
Faiaeme:

(A) Fomadt B =g

(C) nrz (D) #eA

|le] fedi #1 e, A AN F FA
F SO B mEa & | od vw feafa =

(A) =TT (B) FUTHF

¥ = (D) 8 & %5 7@

T i s e <femm e ¥
fedfemz

(A) TEa® R

((® HiZETE (D) TEH

1r. sfufm, 1965 % @i, =a
:zﬁaq________iﬁlﬁﬁaﬁ%géwﬁ
% o O R A e SRR

(A) 25 (B 40

(€) 30 (D) 45

R A i B U AGESF WM & 2 TER
S T R A P(A) = 0.35, P(B) = 0.45 §,
A P(A U B)F M 8

(A) 0.90 (B) 0.85

(C) 0.80 () FH AT

2013ﬁm—mwmiﬂlﬁa’lﬁ$
T =y T T 1 e SN S TR
(A) ®TE (B) W@

(© FTE (D) I A A FR T

ST Frerioor S T T R,
Rorerit art =it (Fafeera 3ff =) W FHES
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(B) SiE™
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fs ’

= [n 1999, which Barrage was replaced by 15. eftaon d 1999 4 fa s #1 98

o the Hathnikund Barrage in Haryana Kf"ﬁf‘f! dmaAafeam ?
(A) Ottu Barrage (A) sﬂ?,?,ﬂ'{'ﬁl
(B) 'l‘:ljg‘\\‘;ll;l Barrage o(13) ATHATA A
(C) Anagpur Dam (C) FATEA
(D) None of t he above (D) 3971 A @ 12 471
16. The word ‘Depreciation’is derived from | 16, vz ‘fefufauam’ ez fedfifzm 3
a word Depretium. T 2
(A) Latin (B) French @) @z (B) %4 -
(C) Greek (D) None of these () W% (D) 378 | F12 37
17. Tooth enamel undergoes corrosion when | 17. il %1 349 HeTd T T 2, FE 02 F
the pH in the mouth is below pH af=aea? |
(A) 6.5 B) 7.5 (A) 6.5 (B) 7.5
(C) 5.5 (D) None of these ((2 5.5 (D) Eﬁﬁ%ﬁ?‘tﬁ
18. is setting the exchange | 18 = __ wfars & faf ‘F“T@Wa‘ PR
rate in advance. df;or f\}lltulre trﬁn?acpul)]l; @ﬁmﬁﬂﬁﬂﬁﬁﬁa gfasy & 33T
1th view to avoiding the loss that mig
\%;ise\ Ee\\:e to excha;élge depreciation in ¥ fou arfim A w uffa w2 )
luﬁf;l 1éﬁ;}.n’ecv.J.‘la*r.icm - (3 Hedging (A) F%Elﬁﬁ (B) EEIC]
(C) Option (Dy Arbitrar FORCE ] (D) HEFEal

19. How many cities are there * aryana [ 19. FauE | e § e R Y

at present 7

(A) 156 B) 1. Viyiaee i
(C) 150 (D) 154 (©€) 150 Q) 154
20. Which cost is the sum of total fixed cost | 20. HH-H TV Fo Fifvaa arE s F
and total variable cost ? yfad e A R 7
(A) Total fixed cost FC.-\'VC Ay gﬁﬁﬁﬁam f

(B) Total variable cost

B
(C) Total cost ‘(C; g::[ aftEdi @
(D) None of the above NIMK

(D) 375 § A #1378

21. How many rectangles are th in t .
ﬂgur(_x_ 2 s S he 21‘ mWﬁaﬁ%ﬂa m‘g ?
' [
(A) 9
ol (B) 5 e(A) 9
(©) 6 bt o (B) 5
D

“.“ ' -4~
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>
22.  Under hqumdaton, which gives acomplete
list of assets not specifically pledged in
favour of secured creditors ?

A) Last B (B) List D

(C) Last A (D) List C

75

In Harvana, Morni and Tipra ranges are
separated by the valley of

(A) Saraswat river

B) Markanda nver

() Yamuna niver

D) Ghaggar river

Which error is the maximum error in
the population that the auditor would be
willing to accept and still conclude that
the result from the sample has achieved
the audit objective ?

(A) Expected error (B) Projection error
() Tolerable error (D) None of these

In France the low priced small books
printed on poor quality paperand bounded
in cheap blue covers were called

(A) Almanacs
(B) Chapbooks
() Biliotheque Bleue
(D) None of the above

Who among the following is known as
the Jahazi Sahib in Haryana ?

(A) Pierre Cuillier-Peron

(B) George Thomas

(C) Robert Clive

(D) None of the above

Which Section of Factory Act, 1948
defines the w ashing facilities ?

(A) Section 42 (B) Section 43
(C) Section 44 (D) Section 45

(84
-l

] ne of the following cities of
\};‘:;:};:a was under the control of last

Mughal ruler ?
(A) Sonipat
(C) Pampat

(B) Shahjahanabad
(D) Haujkhas

B
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22. wiwEnms % syt #va-m A sl £
98 et 3 R, sy wfasgd st % e 4
Taftre v @ fipey aff 7 o B |
() gt B (B) g5 D
(©) g=h A (D) g C

ehon 8 i oy oo gt A
I g g § |

(A)mﬁ?ﬁ#t

&) mrhe

(C) T 7

(D) TR &

Fra- 32 s & srfimm Afe 2, 0
S e T e A i o
forpd 2m o ot @ wfvorm 3 S whan #
T g A feran 2 7

&
Y wea 3fe
mﬁwwaﬁmmwm
uﬁﬁh%wﬁi@hmmm

1A Frarei 1 @ FE S 9@
(A) T=T

(B) S
AC) faferasrs
3uard 1 B g AL

23.

24.

%\)’

(D)

fr=fefiag 4 @ B0 afaon § sers afee
F A Y S a8

(A) forr graferr a0
(B) STst giwd

(C) T FeTrgd
Iy # & HE AE

26.

15
wram AufEa, 1948 1 FR-dt gm
arad gfaasdi 1 afvarfva i @ 7

(A) HTT 42 @) 4m 43

(C) 91 44 (D) 9T 45
fafefad & & efemn % #a-8 am sifm
LUSRUCER RECE LR

() (B) TESEETATE

(€) arIE () e

27.

28.

D
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99 Which leads to division of labour 29, fara gfrom 49 fa ﬁ
7 and leads to tremendous Increase in srefer r{f7 G IR
productivity s

I (B) Globalj (A) ferrrsran o 3’1*]3701‘
wvA\) Speciahization tlobalization ( ALIC 7
() Privatization (D) Libe ‘ralization () fasfraam (D)

30. What is the chemical name of tasting 30. Zfem giez (:ﬂﬁ“m'm) il Tmm
salt (A)i-no-moto) ? FE?
(A) Monosodium glutamate (A) orEETg Wﬂ'fl
(B) Monosodium chloride (B) oHEEIfeTH TR
(C) Disodium chloride ) g@ﬁmm

(D) None of the above (D) Wﬁ@ﬁéqﬁ

31. A 1s a software that lets | 31. ____ THTwRd I[% mgﬂaaqta
you view web pages, graphics and the mmmmé@ﬁ%m% |
online content.
(A) Name Server (&) al'l:['ﬂé'(

B) Application Server -(@‘Qﬁ'ﬂ%ﬁﬂw
(C) Web Server ‘;C) aﬁ Hé.-{

D) Browser

” (D) 913K
32. Under quantity, the point - 32. A% 3@ iil agﬁamw Sl
whic ‘n1 nventory carrying costs are e ‘ EIGEES Fﬂ’l?ﬁ AR am?ﬁ% TR E |
Lo order costs. T a:"é.s.r
(A) Cheaper order ) firy TR
(B) Financial order (B) &
(C) Costly order . (C) wem 3“%51
(D) Economic order ~AD) ﬁﬁfaﬂﬂ m
33. ______ was the first Haryanvi flm 33. TEcH Bfamoret fben ot |
f\: Dharti (B) Chabilee B BT il
C) Bahurani (D) Phool Badan i ®)
(€) st (D) F e
34, o consists of the perfor ‘mance 34.

rrf business ac

tivities that direct the flow - aﬁﬁﬁ3qﬁliﬁlf RIREICo) d% I9RH
of goods and services from producer or i a@ﬁaﬂ(m%maﬂ

manufacturer to Consumer gp user, ‘\’TT&IH w
(A) Marketing (B) Pricing % I

(C) Buying (D) Selling . i g:n
' 18- Giteqy
35. The Video Gra : A

Phics Arrav (va
standard ig ? Array (VGA)

. irtg ) U5 e it (el W B
A) 1024 {68 pixels Af\) 109
B) 800 600 piyl. 24 x 768 e
M pixels (B) 800 x 600 foaae
(©) 1280 x 1024 frze
D) 640 x 480 frgirer
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36.

37.

38.

39.

40.

41.

42.

In Haryana, 18 celebrated

to welcome rain season.

(A) Teej (B) Baisakhi

(C) Gangore (D) Gugga Naumi

The coordinates and controls
the data flow in and out of CPU.

(A) Arithmetic Logic Unit

(B) Input Unit

(C) Output Unit

(D) Control Unit

The monthly income of 10 employees
in an office 18 Rs. 2,22 650. What is the
average income of an employee ?

(A) Rs. 22,265 (B) Rs. 22,500

(C) Rs. 22,750 (D) Rs. 22,700

In Haryana, Ladwa revolt of 1845 wr
lead by

(A) Jobit Kha
(%) Jodh Singh

(B) Prats agh

(D) Ajit Singh

is a movement to
inform consumers and protect them
from business malpractices. ;
(A) Socialism (B) Anti-socialism

(©) Consumerism (D) None of these

The least distance of distinct vision for a
adult with normal vision is about
(B) 25 cm
(D) 256 m

young
(A) 25 m
(C) 25 cm

isk that the f'xu'ditnr may
ropriate opinion when
ments are materially

Which 18 t:he rp
jve an 1nap
%he financial atate

misstat.ed ? :
(40 Detection risk

(©) Inherent risk

(B) Audit risk
(D) Control risk

36

37.

38.

39.

40.

41.

42.
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Hamg  adwEgFmmm
fﬂ".mmg,

) (B) Fam

(C) Topf (D) T T
. g% @ a2
YA F1 =7 i A AR

() St =it 77

®) Tz 7

(C) mszge e

D) Fgre g2

UF FAET B 10 FHE1 F1 WiEF T4

%, 2,%650% | v FH=E F SEa FE
A

(B) %. 22,500
(D) . 22,700

;}O '6.-22,265

(C) ®. 22,750

Shamon & 1845 F @A R W AGH

Efcill
(A) Siifaa @ (B) wam faz
(C) =g f&= (p) Ifa e

IquTFIAl F graa FH

AN 3= FATER | T FFE @ q=H F
TF AREEAEE |
(A) TUTSETR (B) Wd-gH=E=
(©) FgvrFTER (D) 3 @ 1% 7
o G 3 AT O A1 % fo g g
=1 ZHad 7 8 T
(A) 25m (B) 2.5 ¢cm
Q) 25 cm (D) 25 m
FH-a1 Jfen (fo=F) 2 fF o Wi+ o
AT S 2 T ¢, 5 fadia FuA
FAiaF 9 € 3G FEMCE 7
) fezam fe= (B) ifee freF
(C) T2 freg (D) FogrE e
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youth groups for children below
43. :

The Nazi )
14 years ol 8¢
(.-\J' Jung“‘lk- 'ts
((\} Bru“'n h'hl' .
revenue 18 defined as the
increase in total revenue consequent
upon a small increase in the sales of the

(B) Gypsies
(D) Black shirts

44.

product.
(A) Average
(C) Total

1§} Marginal
(D) None of these

The highest peak ‘Karoh’ is located in
which district of Haryana ?

(A) Panchkula (B) Nuh
(C) Kurukshetra (D) Ambala

45.

system software is used
by all modern organizations to keep.
track of employees of the 01'g_&1nizgtion
who receives wages or salary.

46.

(A) School management
) Payroll management
(C) Hotel management
(D) Inventory management
The equation of the line passing thr

the point (1, 2) and making an »
60° with the x axis is

(Af VBx+y-v3+2=0

(B) \.@x—y-r»:zu\@:o - '\""
(C) \/§x+y—\/§:0 \

(D) None of these

48. Haryana was earlier known as
(B) Jai Bharat
(D) Bharatvarsha

Complete the following formula :

(A) Brahmavara
(C) Brahmavarta

49.

—_ = Percentage change
quantity demanded + Pep,
In price

(A) Cross elasticity of de
(B) Income elasticity of
((‘) Price Q]aﬂt]l(.‘it_\f of de
(D) Elasticity of Supply

in
entage change

mand
lemand
mand

AD
AP

43.

14.

45.

46.

48.

49,
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35 % @l o (10, TSt 0 e
By Ferta
(D) =4 28

A 1 3eare # faf o o
e e ;T T A g

i frsnfaa fan s @i 2 |
j;m (B) "

©) F (D) 7 | F1é 7
efraon 3 o o  wad Seft A ‘e
fods?

VR EET]
(C) Far

MHTFN'_?W
(A) FrETF
(C) W IH

(B) &
(D) 3T

foren afveam =1 393 o

S STaA1 gRI 9 39 e 3
TEd % fore forn stren &, S wSRd A1 A

FAE |
?&@aﬁ
3) Wi BHHe
(C) Biza Ba=ie
(D) ZHa Bz
fg (1, 2) & T Aveft v x g F =y 60°
1 10T T 5 TET Y et
@ Bx+y-V3+2=0
(B) V3x-y+2-\3=0
©) V3x+y-J3=0
(D) 378 & 1S 78

EfEmT i ywer
SITAT 91|

(A) ST&IER

) srmmad
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53.

55.

56.

Human Development Report which s

annually brought out by

(A) International Monetary Fund (IMF)

(B) lnlvrn:ltiunnlllunkfurlh'cqmulruvlum
and Development (IBRD)

(C) United Nations Environmental
Programme (UNEP)

(D) United Nations Development
Programme (UNDP)

In which year the Indian Institute

of Management (IIM), Rohtak was
established ?

(A) 2009 (B) 2001
(C) 2011 (D) 2013

“Dispersionis the measure of the variation
of the items.” This is defined by

(A) Brooks and Dick
(B) Simpson and Kafka
(C) Spiegel

(D) A. L. Bowley

computerscanexec’ A8
of instructions per second.

(AY Super (B) .rame
(C) Mini (D) M.uro

In Haryana, Indori river rises near
(A) Shivalik hills
(B) Kaithal

(C) Kunal
(D) Mewat hills

Which country is the leading producer of
coffee in the world ?
(A) Brazil
(C) India
' . Raitan Wildlife Sanctuary of
ﬁhﬁ;;ir:;inv?;?:am;ﬁshed in the year of
a

: (B) 2002
(A) -;3003 (D) None of these
(&)

(B) China
(D) Columbia

172020 (26)

80, W formmy fovivs oy i e @ an
g st B
(A) o wifazh w5 AMF)
(B) S2r3wraer & it Fra=429974 U
BATZ (1BRD) ‘
(C) F2E v gangri2e T (UNEP)
(D) FATE2E Jor=n Baaaz TUW (UNDP)
b1. WA Wava dear (11M), Teas 1w

o ad 7 7 7
(A) 2009 (B) 2001
(C) 2011 ) 20313
52. ‘‘wam (feersia) wel # famen =0 am 20
Ty g wfefeE 2
A) g af fe
(B) fovms 3 wrEn
#:)f&ma
D) U, U, AEed
53. g wia FFe s
1 fromifea 5 g 8 |
(A) W (B) ¥ %8
(©) firh (D) HTE
54. TN AR F
ez 2
(A) Tranfes i varfea
(B) Fuet
(C) FoTeA
(1) Hara i gerfeai
55. FA-H 29 HI6 &1 AUV IS @ 7
(A) Ssfi ®) =
(¢) (D) wrafam
eframon & @re @ -Yaq a=asita svameg #i
- AT ad i gd |
(A) 2000 (B) 2002
(Q) 2006 (D) w0 @ e e

D
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60.

61.

62,

__—— audit is yet another
ynism directed to ensure good
:_gavm'nance.

(B) Internal
(D) Cost

cor _“._‘Z'.IIL‘
\) Statutory

£) ),1-_111;1g€n‘.8[1t

.ich of the following city, country’s

| industrial smart city was

y the Prime Minister ?

In wi
first greenﬁel(
maugurated b
(A) Chennal
(B) Mangaluru

(C) Aurangabad

(D) None of the above

Who designed the High Court building
of Chandigarh ?

(A) Edwin Lutyens

(B) Le Corbusier

(C) Laurie Baker

(D) None of the above

cof

The Levels of Management
(A) Top Management

(B) Middle Management
(C) Lower Management

(D) All of these

In a certain code SWAN is written as
VZDQ. How is ROAD written in that

code ?
(A) URDG
(C) UPEF

(B) UXDQ
(D) VRGD

e COSA BT incurred
cach time an order for the purchase of
material is placed and are expressed
as rupee cost per order and include the
cost of getting an item into the firm's
inventory.

(A) Carrving
(") Conversityh

¥Y13) Development
( !')), Ordering

57.

58.

60.

61.

62.

L
1/2020 (26)
Sra-fian Ara Fi9 (2 A
gﬁﬁﬂﬂmﬁaﬁmﬁéﬁmmwﬁ%t
(A) gifafees (B)
(C) WauA (D) =T
i @ @ fre A, 29 F TEe
afa shEfs S TH quEHA BT
Teenfea o T o ¢
() =
B T
(C) SNTTEE
(1_))3aaﬁﬁa§1§=|€f |
T ) I T A F |
1%ﬁ'*--ar&rar-ﬂ«‘-n?’ ’
xA)QEﬁq
M) @i
(C) I S
(D) I H @ HIE T
ey 3 @l 3 e @
(A) 3 e
(B) HEA WU
(®OREI=BELE!
@ A @t
uF GikfaS W # SWAN ® VZDQ
S 2, @ e W A ROAD F1 1 @
o ¢ -
& URDG (B) UXDQ
(C) UPEF (D) VRGD
 crE R Ed 6 e,

e o wlie % foe o s fen
si wfy SR w9T T & ¥9 A A
o e @ o e ol ) e A
F1 uTea A ) ST I R |

(A) FEq (B) fawmE
(C) & (D) SR A
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63.

64.

66.

67.

68.

Which of these is an oldest wildlife
sanctuary of Haryana as per their year
of establishment ?

(A) Kalesar (B) Bhindawas
(C) Khol Hi-lhi;am (D) Khaparwas

A 18 usually a temporary
partnership without the use of a
firm name, limited to carrying out a
particular business plan in which the
persons concerned agree to contribute
capital and to share profits or losses.

(A) Partnership

(B) Public Company
(C) Joint Venture

(D) None of the above

1-12-91 is on Sunday. Which is the fourth
Tuesday of December 91 ?

(A) 17-12-91 B) 24-12-91
(C) 26-12-91 (D) 31-12-91

Name the first Speaker of the Legislat’
Assembly of Haryana.

(A) Shanno Devi

(B) Rao Virender Singh

(C) Ran Singh

(D) Swaroop Singh

Which Section of the Companies Act
specifies the matters to be included in
audit report of a company ?

(A) Section 225 (B) Section 226

(C) Section 227 (D) Section 228

The President of USA during Cuban
Missile Crisis was

(A) Abraham Lincon

(B) John F. Kennedy

(C) Wudro Wilson

(D) George Bush

-11-

el
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@ m“m&'ﬁ&wnwﬁﬂmﬁm
TR sfi sqvperrs #5A-a R 7
A wrem Wy () firgam o
(C) @&t #-Ya (1)) TATATH
st
G AW HIAA; U SEATE WFEE]
R, 0 e e 7 e v o fon 2 2, o
forae v e 1 g A e Eifed 2 2,
oot waifere =afa doft =1 AR A 3w @TE
afr mifirt ) e 0 ¥ for, g 714 2
(A) wrfierd
(B) Grasiie !
C) G =
'ﬁn)a‘u’%ﬁﬁaﬁrﬁ:ﬁ

65. 1-12:¢0 1 Teraw o, A feew 91 e3P
RIS 31 -5 ara &t ¢
)y 17-12-91 (BY 24-12-91
(C) 26-12-91 D) 31-12-91

e 6 e 3 Tes TiE EE 9 7

67. Fa A f - g & F9 H
wE-vdiien fad § wfe awal i Al
FAIR ?
(A) HTT 225
(C) | 227

(B 9T 226
(D) o 228

68. e o fraTse sfe % S Jumu ¥
i &
(A) A5TeH o
4B) S TH. FE)
(©) U faewa
(D) St 5
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3 ‘A) Aluminii (B) Lead
(A < \
(C) Gold (D) Copper
\
7 In which year ”?"'."_ﬂllu had linked all its
= \':}hi;.‘vs with electricity ?
(A) 1999 (B) 1995
(C) 1975 (D) 1970
71 18 an instrument to earn

i

The best malleable metal iy
L .

more foreign exchange to bridge the
balance of payment (BOP) gap.

(A) Export promotion

(B) Import substitution promotion
(C) Exim policy promotion

(D) All of these

72. World Water Day is celebrated every
year on
(A) March 22
(B) March 3+
(C) March 21«
(D) None of the above
73. Which of the following is correctl: ’
matched ? y
Lakes Distric.. of
Haryana
(A) Brahma Sarovar — Rohtak
(B) Damdama — Sirsa
(C) Badkhal — Faridabad
(D) Bhindawas —  Kurukshetra

-1

n

[fthe day before yesterday was Saturday,
what day will fall on the day after tomorrow ?

(A) Friday (B) Thursday
(C) Wednesday (D) Tuesday

iIs  the condition of

being physically ang emotionally able

to perform vital functions normally or
properly.

(A) Safety

_ (B) Service
(C) Health

(D) Hazard

~123-
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69,

70.

71.

72.

74,

75.

172020 (26)

weitem strarerada v ®

(A vegifaan (1) #En .
(©) T (1) atan ‘ i
fapm ad 1 whenon 3 sqaa ah e F faega
?Afhﬁg? : (B) 1995 |
(C) 1976 (D) 1970 : -
YA T (BOP) AT F
e % fore, e foeft fafm ey 1 o
IgF B | |
(A) Frafa gam |
(B) AT Tt T=w
() st -fata Hifg y=m
[ 7 et
fragafma % ofaad mmn
TR | |
\ﬁf_’.qﬁf > m? :
(B) 3 AT ’vf"‘" E
21 ATH
(D) 3% | | Fi &
Fraferfiaa 4 & FR-h sk wd & 7
W Fheamm &

B
(A) & |y Ueds 7

B) T . _

e i Fa & weet o oy wifEm o1,
AT %t 2 a2 1 2 F—a1 8 7
(A)W (B) W
€) qam

(A) Tram

© (B) Har

(D) @au

-



i

76.

-1

-1

78.

79.

80.

81.

82.

Sacrificing ratio means the forgoing a
fraction of share in favour of a _ v «?
partner by the old ones.

(A) Minor (BY New

(C) Sleeping (D) Retiring

Find the odd one among the following :
Skin, Eve, Leg, Nose, Ear

(A) Nose (B) Leg
(C) Skin (D) Ear

Which profits relates to those profits
which can be legally distributed amongst
the shareholders of the company by way
of dividend ?

(A) Divisible profits (B) Interim profits
(C) Quarterly profits (D) Annual profits

Juhi Chawla was crowned as Miss India in
(A) 1988 (B) 1994
(C) 1981 (D) 1984

4
Satara was merged with the Bry

administration in 1848 under the pe’
(A) Subsidiary Alliance

(B) Divide and Rule

(C) Dual Government

(D) Doctrine of Lapse

A

Chips manufacturers usually flush bags
of chips with gas such as
prevent the chips from getting oxidised.

(B) Hydrogen
(D) Nitrogen

to

(A) Oxygen
(C) Neon

major event in which among

ite flying is a p
e stivals of Haryana ?

the following fe
(A) Lohri

(B) Dussera
(C) Basant Pa
(D) Baisakhi

nchami

-1 8=

e ———— P —— . —
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76. T (fgmin o) # oad RO

wiftamgm srfran % g 1 i

1 U W Fre e |

(A) ATarfem (B) ¢

() Ffora (D) BafFEa PR T
77, Taeferfa 5 4 swma o2 #FH :

(A) 7T Bf &

(C) T (D) &

78. -8 T 39 SNl @ FAtud &, S
¥ mem & Fof ¥ S & e At
%9 & fafa o snawd @ 7
(A) T = (B) Fafm =™
©): A (1 e ™
79. ﬂpa'laen EARL L EA 0| e AR TE 0 C
i |
(A) 1988 (B) 1994
" (C) 1981 (D) 1984
80. =¥ 1848 § Taw =1 fafen wwmER ° faem
Toraeht fifa & oea fe T an ?
(A) HET=TF M3aEd
(B) leaz vz ==
(C) aTedl aFR
) EifagA ATe d
gl M asmaci e s F oy ™
vr faafsia 1 8, of* S
fa 1 37| F 8 TH1 S TF |
(A) STTaEisH (B) BESISH
() fam (I TTEZISH
go. fraferfad ®§ & wfemn & e =ier 8§ gan
IR A FE R ?
(A) Edl
(B) <&
4C) 98d
(D) Srare
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English Language | Cacibatioll
kng =
' g question, out of the
3. In the folloW! iah
83. ;an group of words, choose the mis- i w1 ' SrEifEa F wd 2
: i
spelt one. el LR

‘A) Head uaters
,(B) Curve

(C) Projection
(D) Educate

The following question has four words
(options) of which three words have a
similar meaning or are synonyms. One

)

(A) Tl & waes T @A
(B) Hﬂ@?ﬁ@lﬁlmw
(C) maﬂ'{mﬁmy
(p) T A FR T

L : a.m
of the words has a meaning different | 88. areft efit—efit eran @ g
from the rest. Select that word'(option) ﬁ?ﬂ'{ﬁwzﬂm% |

as the answer.

(A) foresight will%ﬁ“aa;

(B) prescience (B) YHHETEH

(C) foreknowledge (C) FAATTF

(D) gredence

_— . : (D) T8 & F18 7E
85. The following question consists - ord
or phrase which is under): in the
sentence given. It is folle- Jy certain “Fenp’
word or phrase. Selectt”  ordor phrase | 89. TTST 1 972 2 |
1s closest to the ite | aning of (A) 3R
the underlined word or phrase. : -
Raju often walks to school. )
) rarely (B) always (C) ¥&Fa
(C) sometimes (D) never D) Sﬁﬂﬁﬁiﬁﬂ
\_@. In the following question, out of the
four alternatives, choose the one which
:,Et:)i ;ubsmtubed for the given words/ 9. 59 IO & 3SR F 9T 31 g3 3
Words written on the tomb of a dead Tl e, 3% S ﬁﬂ'g
person.

(A) I
- (A) Epitaph _ ﬁ-qﬁ
(B) Etymology® (B)
(C) Epigraph v ©) =
(D) Epilogue .
(D) 55

D \

~14.

e e
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